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QUESTION 1

A network administrator adds a new VLAN in a campus network, VI.AN 120. The administrator needs to set up a DHCP
scope for this VLAN. The scope will include an IP address for DHCP clients and a default gateway address. An HP
Comware aggregation layer switch acts as a DHCP server for this VLANs at the access layer. The administrator
configures this on the Comware switch for the new DHCP scope:

dhcp ssrver ip-pool 120
network 10. .0 24
gateway 1 254
expired 1 day
quit

dhcp ssrver forbidcen-ip 1

dhcp =2z2rver ping packets 2

dhcp ssrver ping timeout 7

|-_'l =
. ;_‘

0.1.120.2530 10.1.120.254

Based on this configuration, what else must the administrator configure to make the pool available to DHCP clients that
send requests in VLAN 1207

A. dhcp vlan 120

B. dhcp server ip pool 120vlan 120
C. dhcp enable

D. dhcp server vlan 120

Correct Answer: C

QUESTION 2

Which statement is true concerning spanning tree protocols and HP switches?

A. ProVision switches use non-standard default cost values

B. Comware switches have spanning tree enabled, by default

C. ProVision switches, by default, auto-sense edge ports

D. Comware switches use their serial number as the switch identifier in the bridge 1D

Correct Answer: C

QUESTION 3

Refer to the exhibit.

Latest HP2-237 Dumps | HP2-Z37 PDF Dumps | HP2-Z37 Exam Questions 2/4


https://www.geekcert.com/hp2-z37.html
https://www.geekcert.com/hp2-z37.html
https://www.geekcert.com/hp2-z37.html

VCE & PDF https://lwww.geekcert.com/hp2-z37.html
2024 Latest geekcert HP2-237 PDF and VCE dumps Download

GeekCert.com

{Switch> display port trunk
Interface PVID VLAN passing
GEl1-0-19 1 0l g

The network administrator has configured this port to permit all VLANs. The output in the exhibit indicates that the port is
only passing VLANs 1 and 11. The administrator wants the port to pass VLAN 12 as well. What should the administrator
do to accomplish this?

A. Enable IP routing.

B. Add VLAN 12 to the switch.

C. Change the port link-type to hybrid.

D. Change the port link-type to access.

Correct Answer: A

QUESTION 4

A network administrator wants to disable physical interfaces 13-24 on an HP ProVision switch. How can the
administrator do this?

A. Create a named port group for interfaces 13-24. Then disable the named port group.
B. Use the interface disable command. Specify 13-24 for the ID.

C. Assign the range of interfaces to a VLAN. Then, disable the VLAN.

D. Create a named range for interfaces 13-24. Then, disable the named range.

Correct Answer: D

QUESTION 5

Refer to the Exhibit.

DHCP
DHCP Server

SwitchA SwitchB

| ———sengiegam  givg
. VLANT VLAN3 VLAN3

A network administrator needs to configure DHCP on SwitchA. Assume that SwitchA is an HPE Comware switch and is

Latest HP2-237 Dumps | HP2-Z37 PDF Dumps | HP2-Z37 Exam Questions 3/4


https://www.geekcert.com/hp2-z37.html
https://www.geekcert.com/hp2-z37.html
https://www.geekcert.com/hp2-z37.html

VCE & PDF https://lwww.geekcert.com/hp2-z37.html
2024 Latest geekcert HP2-237 PDF and VCE dumps Download

GeekCert.com

using the default settings for DHCP. The administrator configures the following information:
[SwitchA] dhcp relay serve—goup 1ip 10111
[Swircnd] interface viardnierface 1
[Switcha-Vlan-interfacel] dhep select relay

[Switcha-Vian-interfacel] dhep relay server-select
[SwitchA-Vlan-interface1] quit

The administrator then has the DHCP client try to acquire addressing information, but the process fails. What should the
administrator do to solve this problem?

A. Execute the routing command on SwitchA.

B. Execute the dhcp enable command on SwitchA.
C. Configure DHCP relay on SwitchB.

D. Enable DHCP Snooping on SwitchA.

Correct Answer: B
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